Examples of arrays in the hierarchical display of a thesaurus
Case 1

cycles

 monocycles

 bicycles
 tricycles
Case 2

milk

<milk by fat content>

 skimmed milk


 semi-skimmed milk


 full fat milk

In both cases we have an extract showing 4 concepts. Case I shows an array of 3 concepts below a broader concept. Case 2 also shows an array of 3 concepts below a broader concept, with the addition of a node label that is associated with the array. In both cases the array is ordered, although the principle behind the ordering is not made explicit in Case 1.
A key feature to note is that the node label is not a concept. It does not have “parents” or “children”. It is associated with the array that appears after it in the display. Its presence should not be allowed to obscure the relationship between the narrower concepts and their true “parent”.

If Case 2 were present in the AAT, then in the site at <http://www.getty.edu/research/tools/vocabularies/aat/>, they would probably be displayed with more indentation, thus:

milk

<milk by fat content>

skimmed milk


semi-skimmed milk


full fat milk

Extra indentation like this does not have to be a problem, provided all parties recognise that the guide term at the intermediate level does not impede the direct hierarchical relationship between milk and its true narrower concepts.
Entries in corresponding alphabetical display
Case 1

cycles

NT  bicycles

       monocycles

       tricycles

Case 2

milk

NT  full fat milk

       semi-skimmed milk

       skimmed milk

